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[Section A.] Answer the following questions. All answers must be written in tbe

booklet provided.

A.I. Choose the appropriate word from the alternatives in brackets. (10)

(a) B39=')i[;1:.re[;Jo$:;It\lJelt\· ;Jo$:;1t\ retj: f'Jtelt\· $:;p;htelt\] Iv-z"TiJ'o

(b) ij,EjS, b L.ffiiJ' [~0 c . ~0te G] 1TiJ,tj:It<)t f'J-z"To

(c) ~¥O)iliJre, ;Jo.!lJl~T~:1')vresliz~-c [<bf'J~T . -'?f'J~T . ;Jo'2"~Tl 0

(d) AiJ'te< ~1v~~0-C1t\~To .!::''5t:$ililiJ' [<b0te.:c'5-z"T· <bf'J.:c'5-z"
T . <b0 tcs:'5-z"Tl 0

(e) .=.lli\'reJi':'llIl~1±!0 c, *Ji':reJlif< [0).:::. C1 V;J:fiiJa~tetj: f'J~TiJ'o

(f) :::';h, [t G0 -Ct . t G0 t: G1 1t\1t\-z"TiJ'o... .:t.:t, c~ '5:C :::'EHEite
[;Jol&f'JIt\te L.-C . ;Jol&f'J • ;Jol&f'JL.-Cl <t:!.~ It\0

(g) :::.0)F.', ;g-re [~L.<btfte . It\tet:!.lt\te . Mfte' < ;htc] *, t '5fvtlvt:!.?
... '5lv, c-Ct;Job L..iSiJ'0td: o

(h) <bO)A, ~iJ"i'f,0-C1t\0 [O)re· «re- c '2"1T YfY-;j:jc-z"tVlt\-C1t\00

(i) :X:.iJ'Tvt:"~J!-C1t\0 [F.,te· F.'· fj:iJ'Gl w:ti:F-tJ]!~1t0-CIt\teo

A.2. Put the appropriate sentence in (7) - (;t-) , according to the example. (10)

:;:I;t-x )[,tJA1Z1')[, iJ:/:::J.7)[,tJA1Z1')[,

(fitl) '71' / ti.:c ::.rern:1t\-c;JoIt\-C0 (fitl) '71' / li.:c ::'le rn:1t\ c It\-C0

*J~O)a~F.' rei!!;h-CL.~ It\~ L.tz; (7)

(/n s*m-z"r:::'lvle~~J 0-C§0te o

(?) .:c:::.teg]h ~~ tD6 !

1ii::-1-tiwlt\.7.j]- l' ~tilt\-CIt\~To (zr; )

~~ Iv c ~~tj: ft;htU:!.Is6-z"TJ::o (;t-)
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A.3. Choose the appropriate word from the following box, and complete the sentences
below. You may use the same word more than once. (5)

I ;:c'::: to) c':::;:;S ;bIt Ia:? I

(a) :$=iJicC:'J:i\tn;()'::.Iv--ev' <5;()\ r:" J1[J::f) 'i: J1[(1) ( ) ;()'£F.<~'2"~T J::o

(b) ~, 15Z10 a'i'fco ~tlJfi 5 a'i'f-::~'2"-CT0 i::1llIJv'-Cv'fc:.(1)fc;()\r:"~]3;v'

( ) fco

(c) 15Z,::&fc"f:::,;()'jQfLN-::;lIUc:.( ) --eT;()\r:" 1s~;()'--e'2" ~lt Iv--eL.tc:.o

00 ~Iv~~\~~~~t~, J::<~Iv~*'2"~M.~.Iv~ (
v'J::o

) fc;b.oT;::'

(e) 3'1ltli:7l---e1lt~<5 ( ) t~ f) ~T;()', fcv'fc:.v'*--e1lt~~To

AA. Fill in blanks part freely and complete the sentences.(lS)

(a) __________ ,;()\r:" _______ ,liT;()'~ f) ~ltlvo

(b)

(c)

(d)

(e)

________________ J::? f-::, U S ~'I§' L..-Cv'~To

,,~ .,.~.

..........C 1'-0

________ (1) --e, b ft tz,fiv' ;()\td':v'0

______ "fJ <td':r:" fl ? ;()'v'v'-z"TJ::0
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A.5. Complete the sentences below by combining the appropriate word from Box A and

form or expression from Box B. You can use each word ONLY ONCE. (15)

A B

" -CV\0 -Cf'iv\ It t~ v\ -CL'!?
~ 1!fIJ0 t~0 ~<

.:.:bn0 .:.:bT -Cv\< -C<0 :ff l » )

it"0 J
It ~, :::

T0 *0 J&0 f;(6/)0 Causative, givinglreceiving, tWzmf
Passive, Causative-passive

'! Ad ..1v

({J"U).:..:. c:t;:,f'i.':' =!r (T0-CM\v\C:T) 7J\0 .. ·TJj.'!'ltlv7J', ~;J;tt~lvC:To

(a) Jl'~* : ~*;g-, l:'? te::tJ.o .:.o>fHj:, L -CJj.0 7J\tJ.?
~* :l'i v-. Jl'~*, -If-cNf1.[;:: ( ) -C<te::t:sv\ !

(b) .:.O)r"'O)WJf1:s/~-T-1-[;::I'i, ~~7J't;:,< t:slv (
L7J\0t;:'C:To

(c) 1i1Hf9",l:';:'ff'? fU~70 if,'- J-.=!r (

00 ~mO)A:*<~~'!LktJ.~o

1'1.:~~, .:.n7J\G l:'1vl:'Iv* < (

) -c, ?n

) -CL'! v\'! Lt;:,o

) J:o v\~c:TtJ.o

(e) dbo)?, ft'(7J' ( ) -c, *v\lvC:Tlt<!::~ .. ·o

(f) (:JJ'T"f /0 ) db! l:'? LJ:?o :tolID.=!r( )

(g) T l:' t : tJ.~, :toft t:slv, Jr-:f-, it" -CM \V\ ?
ft: te::/:J)! mJl!!7J'~:b0'!C:, ( )

THE END OF SECTION A. SECTION B FOLLOWS.

JMJA 6643 - 4-



[Section B.] Answer the following questions. All answers must be written in the

booklet provided.

B.t. Choose the appropriate kanji for the underlined katakana part from the alternatives in

brackets. (5)

(a) ;lijii1lJ~ A.,t;J:, 4a-BnB 4'-~"'? tj -C_, {,0 [ftJj· ~ • ~ • *,e.]

(b) iJX.)"'iJ(~JtLt~~ 3 ;7JtI:"'?;'.<t~-'iJ\ ~~m;J:-'~to:o [~. Jfl. ~.~]

(c) "9LJflA..I:od:{,t~cI':>l:t;J:, ~T-1 IOi¥-IH'iJ'{,o [1t.·1.f·~·~]

(d) 7;lt;tod:'::c::1:-.:lt::J /,;7-!v(:I;J:'7 ;7~ Lt~o [~. #.f,..%..!$-]

(e) IttJr /' -C'"9iJ'<?-'C.::I: I;J:)...<?f~ -' -( <to:~ -'0 [ill;. ~ • #t • ~]

B.2. Write the reading of the following kanji in hiragana, and write its antonym (opposite

word) in kanji. (I5)

(a) i~1' ( ) ~

(b) ~*,t ( ) ~

(c) tJ1;::I\."9{, ( ) ~

(d) *-' ( ) ~

(e) -&:fJf ( ) ~

B.3. Write the underlined hiragana in kanji, and give the reading of the underlined kanji

words. Do not forget to add ;jO< I) iJl tt. if required. (30)

(a) -1 /' y-;j", 'Y r -C't J: 7 (I 7 ~1~{,0

(b) f~ "'?iJ'i®.;'.<'-C*j(iJ';lIU~ 0

(c) -ItiJ'_'O)OOJ.7iJ';'.<J: 7 ') J: < L Gfi,;tti, Jj!)'/Y-O)od:_';f±4.<-iJ'%'!fI.-C';'.<{, to:7:>7 0

(d) Mf"'?iJ'0) 7 -It _'iJ' I%-( M;lt-::>-C_, {,od:<?, ~-% ~ Gfi,;'.<<?cl':>{, od:!

(e) .J::-C-,,,. t.!f!..9'; 0

(t) 7 7'7'tt ® h' <?;GidJ". 11't: Ij> '79 .; 0

(g) .; V) ® tJ:;k ,~ 'if iJ.f.h' 1.'i; too

(h) J1t~m! V) 7'.7;I 7' V);f1( /:, 18J\ V) 7'.7;I 7'h' >J:C:,h. -C"",.; 0

(i) 1 et") A ". ~9 {, ~# t;, ". '7 to/: L too

(j) :h!!.J;j(t: 1l L", C !::' '7 L {> ". 1JIJ~9 .; 0
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[Section C.] Answer the following questions, All answers must be written in the

booklet provided.

c.l. Fill in blanks freely and complete the following dialogues. Pay attention to the human

relationship,(24 )

-~ ~~ - ~~ ~W ~=:~=. ~~.A. u~

7\:;1:.:~no ~~. ~np. 5~. 7\:;~m~~~o

e Iv c
"¥:1:.: ~. 'L5 '::'ff~ "C'L..td'o

7\:;1:.: 5 ~o

(b) "¥:1:.:~ a: 5. IJJHl 10 S"¥I:::liJf9'E:£I::: ~ ;;, U' "C'
L.J: 5 tJ'o
7\:;1:.: -'C5 "C'-t'Po LfMCPliJ51:~;iJ'~-'5~"C'. 0

(c) fA: ~ ~*. [,'l:Jj.I:::<I,'ft;li;o
1Y:.A:/::'n o 5 -~. ~n C-,?;li;i;,J: -::>i::"'0
fA: P.:t o

1Y:.A: :ji:1,'fcAK 0
fA: 5~. -'C5 vc Jj.-'5~o

(d) fA:*~~v~-?'-. t5i';.1t'ifJ'iL..t::. o

itlvf!P

7\:;¥: 5 5/v, 'itUt~o tcntJ'V«nftl,'tJ,ft~i::}i~h,(-'5~tcfti::~o

fA: 0

7\:;¥: -'C5. MtJ'-'5P o C-,?~:jQ)ff.JjI,'o

(e) 1Y:.A::jQli~ 5 '''0
fA: ;li;n, /::'5 L.fc(/)o !l.\';-'C5ftmlL.'(0
1Y:.A:5/v. $a~~. 5i;,1:::~tJ'M~i;,-,?

-o '('''0

~ "C''''0.~------
(f) 1Y:.A:~ ~ 5. /~-T -1-I:::D-::>t::.?

fA: 5 5~.

1Y:.A: -'C5 0
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C.2. Read the situation about 7 1) A and I {~I {~ below, and create a long conversation
between them in Japanese. Develop the conversation as suggested in the following
flow-chart. All answers must be written in the booklet provided. (21)

Flow Chart Start a conversation.

L
Bring up a topic.

L
7')A complains indirectly.

L
1\:--1 \:-- apologises and explains the situation/makes an excuse. Then

apologises again.

L
End the conversation.

Situation:

71) 7-'s situation: The shared kitchen in her graduate house is always very dirty because /~

/ /~ / doesn't clean the kitchen after he cooks. Alice cleans the kitchen every time but she is
tired of it.

/~ / /~ /'s situation: He is very busy because he studies and has a part-time job, too. He has
no money to eat out, so he cooks by himself. He thought that there must be a cleaner because
he always found the kitchen clean.

THE END OF SECTION C.
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